Multiple Choice
Question Exemplars

The usual function of grunge-prowkers is to remove

a)
b)
)
d)

grunges
sharts
trigs
grods

Lurkies suffer from trangitis because

a)
b)
)
d)

their prads are always underdeveloped
all their brizes are horizontal

their curnpieces are often imperfect
none of their dringoes can ever adapt

Antigrottification occurs on

a)
b)
)
d)

spring mornings

summer evenings provided there is no rain or thunder after dusk
autumn afternoons

winter nights

Non-responsive frattling is usually found in an

a)
b)
)
d)

gringle
janket
kloppie
uckerpod

Which of the following are exceptions to the law of lompicality?

a)
b)
)
d)

the miltrip and the nattercup
the bifid pantrip

the common queeter

the flanged ozzle

What is the typical annual attrition rate of wild red curbles?

a)
b)
)
d)

58,690
70,000
66,830
78,450

What do many uckerpods habitually suffer from?

a)
b)
)
d)

lurging
burfing
frattling
kittling



